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FOREWORD

The candidates’ Item Response Analysis Report for the Certificate of Secondary
Education Examination (CSEE) for 2023 in the Chinese Language subject provides
feedback to school quality assurers, educational administrators, school managers,
teachers, students and other educational stakeholders on the students’ abilities and
challenges in attempting the examination questions.

The report highlights candidates’ performance on each question examined. The
analysis indicates that candidates with high performance provided appropriate
responses since they were able to identify the requirements of each question. They
also had good knowledge of the subject matter. The analysis further reveals that
some candidates did not perform well on some questions due to various challenges.
Some of these challenges include; lack of adequate knowledge on the Chinese
grammatical rules and vocabulary and failure to interpret the requirements of the
questions.

The National Examinations Council of Tanzania expects that the educational
stakeholders will use the feedback and recommendations provided in this report to
improve teaching and learning thus, improve candidates’ performance in the future
examinations.

Finally, the National Examinations Council of Tanzania would like to acknowledge
contributions of the examiners and all those who have in one way or another
participated in preparation of this report.

C

Dr. Said Ally Mohamed
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report analyses the performance of the candidates who sat for the
Certificate of Secondary Education Examination (CSEE) in the Chinese
Language subject in 2023. The examination was set according to the 2015
Chinese Language syllabus.

The Chinese Language examination had 11 questions. The candidates were
required to answer 10 questions. The questions were divided into three
sections: section A comprised of Multiple Choice and Matching Items,
section B consisted of Short Answer Questions and section C comprised of
Essay questions. Section A had 2 questions; Question 1 carried 10 marks
while question 2 carried 6 marks, making a total of 16 marks. Section B
consisted of 6 questions; questions 3, 4, 5, 6, 7 and 8 each carried 9 marks,
making a total of 54 marks. Section C consisted of 3 questions: questions 9,
10 and 11 of which the candidates had to choose two questions, each carried
15 marks, thus making a total of 30 marks.

The data analysis indicates that a total of 459 candidates were registered for
the Certificate of Secondary Education Examination (CSEE) in 2023, among
them 443 candidates sat for the examination. Furthermore, analysis shows
that, the general performance in this year was good because 402 candidates
(91.36%) passed the examination and only 38 candidates (8.64%) failed.

Table 1: Candidates’ Pass Grades in CSEE 2022 and 2023

Grades
Year Sat
A B C D F
2023 443 27 57 154 164 38
2022 309 51 64 118 63 13

Table 1 shows the performance of the candidates in 2023 and 2022. The
number of candidates who scored grade “A” dropped from 51 in 2022 to 27
in 2023, while the number of candidates who scored grade “D” increased
from 63 to 164 respectively. Likewise, the number of candidates who scored
grade “F” increased from 13 in 2022 to 38 in 2023.



2.0

The analysis shows the performance of the candidates in each question.
Moreover, it displays the weaknesses and strengths of the candidates in
answering the questions. The samples of responses from the scripts of the
candidates have been used in order to provide a general overview of how the
candidates responded to questions.

Candidates’ performance is classified into three categories: good, average,
and weak. Performance is considered good if scores range from 65 to 100
marks, average if scores range from 30 to 64 marks, and weak if scores range
from 0 to 29 marks. These categories are color-coded for clarity: green
denotes good performance, yellow represents average performance, and red
indicates weak performance. A summary of candidates’ performance in each
topic is provided in the Appendix.

ANALYSIS OF THE CANDIDATES’ RESPONSE IN EACH
QUESTION

21 SECTION A: COMPREHENSION

In this section, the candidates were given 2 questions; question 1 and
2 in which they were required to answer all of them. Question 1
carried 10 marks and question 2 carried 6 marks, thus making a total
of 16 marks.

2.1.1 Question 1: Multiple Choice Items

The question comprised 10 multiple-choice items. The
candidates were required to answer by choosing the correct
answer from the given alternatives. The guestion was set from
topics of; Greeting and self-introduction/Family Introduction,
Time/Jobs, Transportation/Travel and
custom/Environment/Shopping and  Housing/Color. The
question was as follows:
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A total of 443 (100%) candidates attempted the question, out of
whom 216 (48.76%) candidates scored from 7 to 10 marks,
which is a good performance, 195 (44.02%) candidates scored
from 3 to 6 marks which is an average performance and 32
(7.22%) candidates scored from 0 to 2 marks which is a weak
performance.

The candidates’ general performance in this question was good,
since 411 (92.78%) candidates scored 30% or above. Figure 1
summarises the candidates’ performance in question 1.
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Figure 1: The Percentages of the Candidates’ Performance
in Question 1

The data analysis indicates that, 216 (48.76%) candidates who
had a good performance scored from 7 to 10 marks. These
candidates performed well because they understood the
requirements of the question, had sufficient knowledge of
vocabulary and mastered well the Chinese sentences structures.
For example, in item 1, the candidates were required to answer
the question FTH XA = v A, A &€, B4 FiE? (Asha’s
family had three people, father, mother and who?). The
candidates who scored full marks chose the correct answer C
4 (her) because they noted that it was a female pronoun which
replaced the noun Asha. Thus, they identified the correct
answer. Whereby A 4t (him), B 4% (you) and D & (it) were
incorrect answers because they did not correlate with the given
noun.

In item 2, the question was 8. _E4548 % B 5 () @4 T. (In
the evening mother is going to ( ) noodles in the kitchen). The

correct answer was A 8 (cook). The candidates who scored

full mark knew that the alternatives had similarities in
pronunciation but different meaning and characters. For

example, alternative B 4E (work), C i (a seat or a measure

4



word for buildings and mountains), and D # (to sit).
According to the sentence only the word cook corresponds
with the meaning of the sentence.

In item 3, the question was Z=#£Jf () #&A1 Xi& (Teacher
Li ( ) us Chinese language). The candidates who chose the
correct answer B #% (to teach) were familiar with Chinese
vocabulary. They noted that the alternatives given had some
similarities in pronunciation. They also knew the meaning of
the sentence which helped them to identify the correct answer.
They further knew that alternative A ™ (to be called) was not
the correct answer because it is a verb used in introducing
people. They also noted that C 3 (to make friends) was not a
correct answer because it is an act of making friends and they
knew that D B is a part of the body (foot). In the structure of
this sentence the word £ Jf correlate with 2% (teach).
Therefore, the candidates who got the correct answer in this
item, had sufficient knowledge of Chinese homophones.

In item 4, the question given was R & () &) RIR?
(kind of color closes do you like?). The candidates were
required to fill the blank with an interrogative A f+4 (what).
The candidates who scored full marks were aware of the
structure f+ 4 (what)+N. In addition, they knew that
alternative B 1+ 4 ¢4 (and so on) was not the correct answer
because it is always used at the end of the sentence. They also
noted that alternative C 1+ 4444 (kind of) was not the correct
answer in this item because of the particle #9. This proves that
these candidates had sufficient knowledge of different
grammatical patterns.

In item 5, the question asked T2 RiEK, —&kF+ () 5
ia]. (Ally’s home is very big, it has a total of ten ( ) rooms).
The correct answer was C 4 (the measure word for rooms).

The candidates who got right this item had sufficient
knowledge of measure words, because they knew that

alternative A 3k was a measure word used for flat object,

alternative B 4 was a measure word used for long and narrow
5



objects like trousers, fish, river and alternative D X was a
measure word for pet animals. According to this item, the word
% 18] (room) its appropriate measure word is 1.

In item 6, the question stated that K4 KRIAL () HFJE
&% (My friend and | ( ) went to the shop to buy some
things today). The correct answer in this item was alternative A
—#2C (together). The candidates who got this item right knew
the structure of the sentence N1+3k+N2+—#2Z (together)+V.
They also knew that alternative B —#¥ (the same) its structure
is N1+3%+N2+—#F+ Adjective, alternatives C —4 (total) and
D —.% L (little) were not correct answers because they do not
go together with the sentence structures.

In item 7, the question was FER 2B R, KA () M
(Yesterday was a sunny day, today has () rain. The correct
answer was D -~ (little/small/light). The candidates were
required to fill in the correct adjective. Candidates who scored
full marks had sufficient knowledge to know that alternative A

'y (few) could not be the correct answer because the word
(rain) is an uncountable noun, alternative B & (on top), C */
(to fry) were not correct answers because the do not correlate
with the word /. The word +J» goes together with the word &
to mean little rain.

In item 8, the question was #%3% 7= () %. (I bought four
( ) tickets). The correct answer was A 7k (measure word for
flat objects like paper and table). Alternative B ¥ (is an
adjective means long) Alternative C 35 (station) is a noun and
Alternative D % (husband) is also a noun. According to this

sentence the word £ goes together with a measure word 7K.
This shows that the candidates who scored full marks
succeeded to distinguish measure words from nouns, and were
knowledgeable enough about the uses of the measure words.

In item 9, the question stated that, 5 A 111.& 4 27&47? (How
do the students travel?). The correct answer in this item was C

6



A4 % (take a bus). The candidates who chose the correct
answer had a better understanding of the homophones and their
meanings which made it easy for them to identify the correct
answer. They knew that alternative A % was not the correct
answer because the word #X (cook/make/do) is used for
cooking, for example #4&. Whereby B J& % also was not the
correct answer because /2 is a measure word for buildings and
mountains, for example, ., and — &4 and D % was
not the correct answer because the word £ (work) goes with
the character 2 to form a word 4§ 2 (homework). Furthermore,

they were aware with the given words alternatives which have
the same pronunciation but different meaning. In item 10, the

question was &RAVIEH —A () A. 2 —AFEF (Our
class has one ( ) person. He is a boy) the correct answer in this
question was A £ E (America) because in this question the
candidates to name a nation. Alternative B 3% (each fruit)
was not the correct answer because 4 means every and X
means fruit. Alternative C 4 was not the correct answer
because the word % cannot go with & and D £ X (beautiful

fruits) do not correlate to the sentence. Extract 1.1 is a sample
of the candidate’s correct responses to question 1.

FSYIN

O IO >0 - |O
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>

Extract 1.1: A Sample of the Candidate’s Correct Responses to
Question 1.

In Extract 1.1, the candidate responded correctly in all items.

Further data analysis shows that 195 (44.02%) candidates had
an average performance as they scored from 3 to 6 marks.
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These candidates demonstrated partial knowledge of
vocabulary, structures, meaning of words and their uses in the
sentence. Thus resulting into average performance. Extract 1.2
is a sample from a candidate who performed averagely in
question 1.

-

IERE
b

-0l

G
A D

1‘
¢ LA

Extract 1.2: A Sample of Responses from a Candidate with an
Average Performance in Question 1.

In Extract 1.2, the candidate wrote correct answers in items 1, 2,
3 and 4 but failed in items 5, 6, 7, 8, 9 and 10.

Furthermore, the data analysis shows that 32 (7.22%)
candidates performed weakly by scoring from 0 to 2 marks.
These candidates had insufficient knowledge of Chinese
vocabulary and sentence structures. They failed to identify the
correct answer from the given alternatives. For example, item
1, required the candidates to answer the question by
mentioning one among the family members who was not
mentioned. The candidates who scored 0 failed to identify the
correct answer which was alternative C #& (her) means a
female pronoun which replaced the name Asha. They did not
understand that A # (him) is the pronoun that stands for a
male, alternative B 4% is the second person pronoun which
stands for ‘‘you.”” Alternative D € is the third person pronoun
which stands for “‘it.”” Thus these candidates had randomly
selected the answers due to inadequate knowledge of Chinese
Language vocabulary and grammar.

In item 2, the candidates who scored 0 had insufficient
knowledge of the homophones. They failed to differentiate
between the given homophones.
Thus, they were guessing without knowing that alternative B
1 (work), C JE (measure word for building and mountain)
and D 4 (seat) did not correlate with the sentence.

8



The candidates who got wrong in item 3, failed to identify the
correct answer. They were unfamiliar with Chinese vocabulary
given in this sentence. They did not know that B #t (to teach)
was the correct answer. Some of the candidates selected the

alternative A ™ (to be called), others selected alternative C 3

(to make friendship) and few of them selected alternative D i
(foot). In this case, "these candidates were guessing.

In item 4, the candidates who scored 0 did not know that the
correct answer was f+4 (what) which fall under the structure
Subj + Verb + 1+ 4+ Adj +¢5+(Noun)?. They got wrong
because they did not know that alternative B f+ 4 &4, could not
be the correct answer because it is always used at the end of the
sentence. Those who chose C 1+ 4449 (what kind of) did not
know that it is not the correct answer because of the word #9

which has already appeared in the sentence. This proves that
they did not master the uses of different grammatical patterns.

In item 5, the statement was [T Z Rk K, —3HF+ () &,
(Ally’s home is very big; it has a total of ten ... rooms). This
item required the candidates to choose the correct measure
word used for rooms which was C %4 (the measure word for
rooms). Those who chose A 7K did not know that it is a
measure word for flat object. While those who chose B % did
not know that it is a measure word used for long and narrow
objects like a pair of trousers, fish, river etc. and D R a
measure word for pet animals.

The candidates who scored O in item 6 did not understand the
statement KASARM AL () £HEF AT (Today |

and my friend () go to the store to buy things ). Candidates
were required to fill in the correct word that connects the

subject 1 (#X) with the noun friend ( BA & ) . The correct
answer was A —#2 (together) according to the structure S+3k
+N+—#2+V. Those who chose B —#F (the same), C —3kt
(total) and D —. %)L (little) did not know their meaning and



uses in the sentence. Hence, they chose answers randomly
leading them to a weak performance.

Other candidates scored 0 in item 7, which stated that #F X2
BA, &AHF () @ (Yesterday was a sunny day, today
there is (') rain. The correct answer was D +J» (little). While in
alternative A ' (few) cannot be the correct answer because the
word /) Rain) it is an uncountable noun. Alternatives B £ (on
top) was not the correct answer because it is a prepositional
phrase and C %) (to fry) was not the correct answer because it
is a verb.

There were candidates who scored 0 in item 8, the question
was & FTwW () Z (I bought four ( ) ticket). The correct
answer was A 7K (measure word for flat objects like paper and
table). Most of the candidates selected alternative B & (long),
failed to distinguish it from the correct answer because they
have slight difference in writing. Thus resulting to the
selection of incorrect answer.

It was also observed that, other candidates failed in item 9, the
item asked, A 11%& 4 %3%47? (How the students go for a
tour?). The candidates were required to name the means of
transport used by the students to go to the tour. The correct
answer was C #* % (take a bus). Alternative A % was not
the correct answer because the word f# (cook) used for meals
for instance # 4% (cook food) not in transportation.

Alternative B J# % was not the correct answer because the
character (J&) is a measure word for buildings and mountains,
for example, — &1y (a mountain) and —&# (a building).
Furthermore, 4§ in item D 4£4% means (work/to do), example
8 3k (do homework) thus made it incorrect answer. It can be
explained that the word 2 in alternative C, # in alternative
A, JZin alternative B and 4% in alternative D both have the

same pronunciation (zuo) which confused the candidates from
identifying the correct answer.

10
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Finally, in item 10, the candidates who score 0 did not
understand the question KATIEH —4A~ () A. # 2 —/~F 3%
- (Our class has one (') person. He is a boy). The candidates
were required to fill the blank with the name of a nation. The
correct answer was alternative A £ E (America). Some of the
candidates selected alternative B 4-3%, others selected C 4 [
and some of them selected D % X . This proves that the
candidates failed to differentiate the words which are
pronounced the same but written different and have different
meaning for example, % and & . Thus, due to their
insufficient knowledge, these candidates performed weakly.
Extract 1.3, is a sample of the candidate’s incorrect responses
to question 1.

[%

5/*
QD
¥ 8
¥
g

C
YA
R

Extract 1.3: A Sample of the Candidate’s Incorrect Responses to
Question 1.

In Extract 1.3, the candidate filled incorrect answers in all
items.

Question 2: Matching items

The question had two columns; A and B. The candidates were
provided with six items numbered 1 to 6. They were required
to match the sentences written in characters in column A with
the sentences written in pinyin in column B. The question was
set from topics of Nature under the sub-topics of Domestic
fowls and animals. This question aimed at testing the

11



candidates’ ability to read correctly the characters related to
domestic fowls and animals. The question was as follows;

. RBETHLAEWGHFH JABPERANY EALEHITER,
Blde: FREDH—FR DR,

£2%:1-6
Ak B
L b EF—%F, A Zai hudyuin you hén dud xido
2 ERBARS S, o
e s B Jiali you liang zhT xido gou.
3. EWMER-ARTEY C Chéng shi de dongwiyuan you
A, xiéng mao.

4 RHAE—R M. D Jl‘e_l.ll }yfou‘ lidng zht XlE\lO n}éo.v
) o o e ey E Zai bowlgudn you yi zhi hén kéai
5. RANEHMEAR kM. de xiong mio.

6. REARR DA, F  Shan shang you yitéu yang.

G Xuéxigo If bian you yi zhi xido
gou.
H Jiawai bian you yi zhi xido mao.

I Z&i huayuén you hén dud xido ji.

The question attempted by 443 (100%) candidates, out of
whom 393 (88.71%) candidates scored from 4 to 6 marks,
which is a good performance, 29 (6.55%) candidates scored
from 2 to 3 marks which represents an average performance
and 21 (4.74%) candidates scored 0 to 1 mark, which is a weak
performance.

The general performance of the candidates in this question was
good, as 422 (95.26%) candidates scored 30% or above. Figure
2 summarises the candidates’ performance in question 2.

12
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Figure 2: The Percentages of the Candidates’ Performance in
Question 2

The data analysis reveals that 393 (88.71%) candidates
demonstrated a good performance, they attained scores ranging
from 4 to 6 marks. These candidates had mastered well the
topic concerning Nature. They were able to recognize the
characters and their pinyin. This was due to their sufficient
knowledge of how the Chinese words are pronounced (Pinyin)
and how they are written (characters). This knowledge enabled
them to match all the items correctly. For instance, in item 1,
the statement was y_E# —3kF (There is a sheep on top of
the mountain) and the correct response was F “‘shan shang you
yi téu yang. *’

In item 2, the statement was /252 B A & % |~ & (There is a lot
of small birds in the garden) and the correct answer was A ‘‘zai
huayuan you hen dué xido nigo.” In item 3, the question was
B IE A — RART & 69 #& 4% (There is beautiful Panda in
the museum) and the correct answer was E ‘‘zai bowugudn you
Vi zhi heén keai de xiongmdo.”

Also in item 4, the statement K4Fi2H — R N J& (There is a
kitten outside), its correct answer was H “‘jia waibian you yi
zhi xido mdo.”” Furthermore, in item 5, the question had the

statement 3% &9 2h 4 B A L5 (There is Panda in the city

13



z00). The candidates matched with the correct answer C. On
the other hand, in item 6, the statement states that, & 24 # 2
J»¥) (There are two puppies at home) and its correct answer
was B ‘Yia li you lidng zhi xido gou’’ Extract 2.1 is a sample of
the candidate’s correct responses to question 2.

@Y

» F
o) A
3) E
y) H
) ¢
&8
Extract 2.1: A Sample of the Candidate’s Correct Responses
to Question 2.

Extract 2.1, shows that the candidate matched all the items
correctly.

Furthermore, data analysis reveals that 29 (6.55%) candidates
had an average performance. With scores ranging from 2 to 3
marks. These candidates managed to get some items right and
some wrong. This can be attributed to their partial knowledge
of the Chinese pronunciation (pinyin) and Chinese writing
(characters), which led to an average performance. Extract 2.2
illustrates responses from a candidate with an average
performance in question 2.

I

©
§i

=
(Sl [eein)

'

6

Extract 2.2: A Sample of Responses from a candidate with
an average performance.
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Extract 2.2, shows that the candidate wrote correct answers in
items 3, 5 and 6 but failed in items 1, 2 and 4.

In addition, the candidates’ response analysis reveals that 21
(4.74%) candidates had a weak performance. They scored from
0 to 1 mark. These candidates had insufficient knowledge of
Chinese pronunciation (pinyin), their characters as well as the
concerned topic “Nature.” Thus due to that insufficiency, they
struggled to identify the correct pinyin, resulting to the
incorrect matching. For example,

in item 1, which stated ., _E& —3k 3 (there is a sheep on top
of the mountain), the correct response for this item was F shan
shang you yi tou yang. Candidates who scored 0 failed to read
and recognize the characters with their corresponding pinyin.

In item 2, the statement was £ 7L EA & % v & (There is a lot
of small birds in the garden). The correct answer was A “‘zai
hudyuan you hén dué xido nido.’’ Most of the candidates
matched with the statement zai huayudn you hén xido ji. This
is because they were confused with the character & (nido) and
character & (j7). Thus, resulted to the matching of incorrect
answer.

In item 3. candidates failed to identify the correct answer E /&
W AE A — AT % 64 f& 4% (There is a beautiful Panda in
the museum). These candidates had insufficient knowledge of
the given in the statements which hindered them from
matching the sentences correctly.

In item 4, the statement was, KA — 2 J&. (There is a
kitten outside). The correct answer for this statement was H
““jia waibian you yi zhi xido mao.”” The candidates who scored
0 failed to differentiate the statement H from statement D jia [i
you lidng zhi xido mao this statement had the words /i (inside)
and liang (Two) which made the statement incorrect.

In item 5, candidates were unable to identify the correct answer

C “‘chéngshi de dongwuyuan you xiong mao’’ which matched

with the statement 3% ¢93h4% B A A&%%. (There is Panda in
15



2.2

the city zoo). This was due to the insufficiency of Chinese
pinyin and character knowledge, especially in the topic of
Nature.

In item 6, there were few candidates who scored 0. These
candidates failed to differentiate statement 5, K 24 # 2 s 5
jid li you lidng zhi xido gou and 3, K 2H B 2 )N Jia If you
lidng zht xido mao. The two statements were differentiated by
two words gou and mao. These incorrect responses prove that
the candidates had insufficient understanding of Chinese
pronunciation (pinyin) and Chinese writing (characters).

Extract 2.3 is a sample of responses from a candidate who had
weak performance in question 2.

=

S|l | | v~ &
UI}JQ-G\(.\

Extract 2.3: A Sample of Incorrect Responses from a Candidate
with Weak Performance to Question 2.

Extract 2.3, illustrates the incorrect responses from the
candidate who matched incorrectly all the items.

SECTION B: PATTERNS AND VOCABULARY

This part comprised of 6 questions namely; question 3, 4, 5, 6, 7 and 8.
Each question had 9 marks making total of 54 marks.

2.2.1 Question 3: Filling in the Brackets with Chinese Pinyin
from the Provided Characters

The candidates were given five (5) items with Chinese words
written in Chinese characters. They were required to write their
corresponding pinyin. The question was set from the topic of
Shopping/Housing. This question tested the candidates’ ability

16



to use appropriate expressions when doing a shopping as well
as writing pinyin correctly adhering to initials, finals and
tone(s). The question was as follows;

Z. REFECLHYXTiRRE LAST. FITHEELEE,
Wo xiing mai yiping  ( )+ dangdo hé lidngge jidan -
Blde: & B X —# F &, BE A ANAY K.
£%: nunai

Mingming de ( ) hén pidoliang -
. W W B EE R E E

Chaoshi 1i you pinggud didnxin hé ( ) -
2~ %_yﬁgﬁ :‘f;'%; !‘5“": ﬁﬂ'fj_%o

Ribén zhaoxidng jT mii dé hén ¢ ) -
3. BA B AR ARE T,
Wo zai shichdng mai le jinian pin hé { -

K ETH T 7T s & i 4.

:(;

Ni xiang m& ) vao hdi shi zhdngyao ?
s A 2 8 BITA B OB

Analysis reveals that 443 (100%) candidates attempted the
question, out of whom 18 (4.07%) candidates scored from 6 to
9 marks, indicating a good performance, 93 (20.99%)
candidates scored from 3 to 5 marks, representing average
performance and 332 (74.94%) candidates scored 0 to 2 marks,
indicating a weak performance.

The general performance of candidates in this question was
weak, since 41 (25.06%) candidates scored 30% or above.
Figure 3 summarizes the candidates’ performance in question 3.
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Figure 3: The Percentages of the Candidates’ Performance in
Question 3

The candidates’ responses analysis reveals that 18 (4.07%)
candidates had good performance in this question. As they
scored from 6 to 9 marks. These candidates mastered well the
Chinese pronunciation which comprises initials, finials and
tones. This knowledge helped them to write the pinyin
correctly and mark the tones appropriately. This reveals that
these candidates had sufficient knowledge of Chinese words
pronunciation and characters. Extract 3.1 is a sample of
responses from a candidate with good performance in question
3.

I\
I
€.
et
7,

5. %1
Extract 3.1: A Sample of the Candidate’s Correct Responses to
Question 3.
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Extract 3.1 indicates responses from a candidate who had a
good performance in in question 3, however a candidate made
a minor mistake in item three, vowel “I”’ in word “pianyi” must
carry a dot on top of it.

Furthermore, analysis shows that 93 (20.99%) candidates had
an average performance. Their marks ranged from 3 to 5. Most
of the candidates wrote correct pinyin in some items and failed
in others. Few of them wrote initials and finals but failed to
mark the tone appropriately. For example, item 5, most of the
candidates with an average performance failed in this item,
instead of writing xi for the character ¥ as a correct answer,

they wrote 9 si (four). This was due to the fact that the words
(x7 and si) have slight difference in initial and their finals. They
are also nearly pronounced the same especially for speakers of
other languages apart from Chinese. This led to an average
performance. Extract 3.2 is a sample of responses from a
candidate with an average performance.

= [D wo _ <hi

Q) alns  Cou
T o

\ v
‘3} pfan \ljf

Extract 3.2: A Sample of Responses from a Candidate with
an Average Performance in Question 3.

In Extract 3.2, the candidate wrote correct pinyin in items 2, 4
and 5 but failed in items 1 and 3.
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Furthermore, the data analysis reveals that 332 (74.94%)
candidates had weak performance as they scored from 0 to 2
marks. These candidates failed to write the pinyin correctly.
This shows that, they did not master well the Chinese pinyin
and characters. Other candidates failed to distinguish the
characters which have some slight difference in writing or
pronunciation. Few of them wrote the word woshi instead of
woshi which was the correct answer.

In item 2, some of the candidates wrote gingcai instead of
gingcai. In item 3, the word /£ & was supposed to be written
as pianyi but some candidates wrote pianyi, others wrote pianyi
while some of them dropped the tone completely and wrote
pianyi which was wrong. In item 4, the word #L4% was
supposed to be written as /iwu but some candidates wrote /iwzi
which shows that, they did not know that i carries the third tone
and u carries the fourth tone.

Further response analysis indicates that some candidates wrote
irrelevant pinyin to the given characters for example in item 1,
one of them wrote jintian, in item 2 wrote yifu and in item 3,
wrote jiaogu. This signified that they did not know the words
completely hence, they made a guess. Moreover, some
candidates copied pinyin from the question paper which did not
relate with the given words. Extract 3.3 is a sample of
responses from the candidate who performed weakly in
question 3.

=1— Yifu-e

o- -\ X{nqg o
_J

z“llaoqoa

¢ - 1t 1a00

5 — 200 o

Extract 3.3: A Sample of Incorrect Responses to Question 3.

In Extract 3.3, the candidate wrote incorrect pinyin in all the
characters given.
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2.2.2 Question 4: Filling in the Brackets with Chinese Character
from the Provided Pinyin

The question comprised of (5) items which had words written
in pinyin. The candidates were required to write their
characters. The question was set from the topic of City and the
Environment and Health. This question aimed at testing
candidate’s ability to write the appropriate Chinese characters
from the given Chinese pinyin. The question was:

W, RBLAHOHETFFERAXT, FFHEECLY.

Ming ming jin tidn méi qil xué xiao > ta bl shufu -

Bld: 9 A AR EEF B, % (),

EE: R

Jigjie shang g& xing qT  ginmao e -

Lo AN 2 H ( ) T

Zai  céo di  shang ydu liing g&¢ hdi zi shuijido le -

2 &£ () LA AANSET BE T,

Yéye de jia  dui mian ydu vyitido xidohé

. FF R ( ) A —% AT,

Lili méitian zio shang zai  hibian  d& tai ji quén -

s WEEE® E A () ik £ .

Mingming méi qu 1 zi qii  t tou téng dé hén -

5. B O O REHRE () Rk AF R,

The general candidates’ performance in this question indicates
that 443 (100%) candidates attempted the question, out of
whom 26 (5.87%) candidates scored from 6 to 9 marks,
indicating a good performance, 197 (44.47%) candidates
scored from 3 to 5 marks indicating an average performance
and 77 (49.66%) candidates scored from O to 2 marks, which
represents weak performance. The candidates’ general
performance in this question was average, since 223 (50.34%)
candidates scored from 4 to 5 marks. Figure 4 summarizes the
candidates’ performance in question 4.

21



100
90
80
70
60
50
40
30
20
10

49-66 44.47

5.87

Percentage of Candidates

0-2 3-5 6-9
Scores

Figure 4: The Percentages of Candidates’ Performance in
Question 4

The data analysis reveals that 26 (5.87%) candidates
demonstrated a good performance, as they scored from 6 to 9
marks. These candidates had sufficient knowledge of Chinese
characters writing. They mastered the basic fundamental rules
of writing Chinese characters (Chinese strokes and stroke
orders). They also had sufficient knowledge of Chinese words
pronunciation (pinyin). This knowledge enabled them to write
the correct answers which were; ganmao (to catch cold), cdodi
(grassland), duimian (opposite), hubian (lakeside), giu (ball).
Extract 4.1 is a sample of responses from a candidate who
performed well in question 4.

. /'E\Z =
oL. 2V &.

07, ® .
02 T @,
04 Jod 4. |

05 B
Extract 4.1: A Sample of the Candidates’ Best Response to
Question 4.
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In Extract 4.1, the candidate wrote correct characters in almost
all items. However, the candidate made some minor errors in
item number 1 and 4 in the first characters, & and #] were
supposed to be written like this and not as the way it is seen in
the extract.

Furthermore, the analysis reveals that 197 (44.47%) candidates
had an average performance as they scored from 3 to 5 marks.
These candidates had a partial knowledge of writing Chinese
characters. They got some items right and some wrong. This
was due to the fact that the candidates recognized only a part of
a word and forgot the other in between the two given
characters, leading to an average performance. Extract 4.2 is a
sample of responses from a candidate who performed
averagely in question 4.

04| 1+ 4]

6 ok

i
I

Extract 4.2: A Sample of Responses from a Candidate
with an Average Performance in Question 4.

In Extract 4.2, the candidate wrote partial correct answers in
items 2 and 3, full correct answer in item 5 but failed in item 1
and 4.

Further data analysis indicates that 77 (24.9%) candidates had a
weak performance. They scored 0 to 1 mark. These candidates
had an insufficient understanding of Chinese vocabularies.
Thus, faced some challenges in memorizing the characters of
the given words. Some candidates wrote characters which were
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2.2.3

irrelevant to the given pinyin. This implies that, they made a
guess. Some candidates copied some characters from the
question paper just to fill the gaps. Extract 4.3 is a sample of
responses from a candidate who performed weakly in question
4,

N \
ot |l wap
—
0aledo  di

t[i
03 dIlU: mw‘m?

i

| b bian
JE

0| g1
¥ )

Extract 4.3: A Sample of the Candidate’s Incorrect Responses
to Question 4.

In Extract 4.3, the candidate wrote incorrect characters.

Question 5: Choosing the Correct Character from the
Given Two Similar Characters

In this question, candidates were required to choose one
character (word) from the two given alternatives to complete
the given sentence.

The question was set from the topic of “City and
Environment.” The question aimed at examining the
candidates’ ability to express distance between places and
existence in Chinese Language. The question was as follows:
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Z. WRIFBCHHOPTAFLSLENE/ FERYT.

Ni shénme shihou jia wéner -
Plha: I8 H 2 5F4& () £ £ IL . (R/K)
E2E: %

zh¢ge chéngshi de jidoqd hén

A R OF W OBE IR ( e C/ o)

[eo

Duddudmad ydu hén dud zhdnggud

2. 2 %5 F R % ¥ B (). (A A
Duoduomi de tiangi yuéldi yué hio -
3. % %55 8 RR ALk A () HF . (RGEE)

o

Wémen gudjia ydu g jlji

é -
4 &M BE A () AFED . (A/8)

Women jid de hudyudn you se de hud -
5 &M EwmEE F( ye W £ . (§/8)
wd zai youji dongbian -

6. & ( ) £ A A L. (R/F)

The candidates who attempted this question were 443 (100%)
of whom 408 (92.10%) candidates scored from 6 to 9 marks,
reflecting a good performance, 32 (7.22%) candidates scored
from 3 to 5 marks reflecting an average performance and 3
(0.68%) candidates scored from O to 2 marks, reflecting weak
performance. The candidates’ general performance in this
question was good, as 440 (99.32%) candidates scored 30% or
above. Figure 5 summarizes the candidate’s performance in
question 5.

100 - 92.10
£
< 80 -
=
=
S 60 -
S
=]
& 40 -
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g ) 7.22
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Figure 5: The Percentages of the Candidates’ Performance in
Question 5
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The analysis of data reveals that 408 (92.10%) candidates had a
good performance, as they scored 6 to 9 marks. These
candidates had sufficient understanding of Chinese vocabulary.
This understanding enabled them to choose the correct answer.
For example, in item 1, the candidates were required to choose
the word +J> (small) from two given alternatives to complete the
sentence. Those who scored a full mark knew the difference
between <~ (small) and ' (few) in terms of meanings and
character writing since < has three strokes while ' has four.
They also knew that in Chinese there is no expression iX /™3,
T #g xR X 4%V (The sub-urban of this city is very few) but
rather iX A3, #9 2R X 4&)s (The sub-urban of this city is very
small).

In item 2, the candidates were required to recognize the
difference between two characters A (person/people) and A\
(enter) since they looked similar in their form. The candidates
who scored a full mark knew that the noun A (person/people)
should be placed after the phrase /& % # & (many Chinese) to
form the phrase /& % F B A (many Chinese people) and not
the word X\ (enter).

In item 3, the candidates who scored a full mark had sufficient
knowledge of the uses of the structure #%& % #%+ adj (more and
more + adj). They knew that the word A~ (not) had to be placed
before an adjective %7 (good) to form another adjective A~%F
(not good). The candidates were also aware that the word i&
(still) cannot be used in this sentence because A%k A% (more
and more) shows the progressive form of an action, while the
word & (still) describes an action as static or not yet to
happened.

In item 4, the candidates were required to recognize the
difference between characters (% and 4# ). These characters
are pronounced the same but have some slight differences in
writing, functions and meaning. The candidates who scored a
full mark knew that the word # (two) is used to refer to things
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in pairs in replacement of number two, since two (=) cannot

be followed by a measure word. On the other hand, 4% is a
measure word for vehicles. Since the statement did not mention
any sort of vehicle, therefore the correct answer was & (two).

Item 5 required candidates to differentiate between character
& and B . The candidates who got right this item knew that the
word & (white) a kind of color, and the word B (day/date)
used for a date. They noted that the sentence had a word &
(color), thus chose correct word & (white) to form & &, (white
color).

Finally, in item 6, candidates were required to recognize the
difference between character & (home) and % (an elephant).
According to the statement 3% ( ) Z¥E AR (My () is in
the eastern side of the post office), the correct answer was K
(home). They further knew that the noun % (an elephant) was
not the correct answer because it does not collocate with the
statement. Extract 5.1 is a sample of the candidate’s correct
responses to question 5.

JADES
DA
O
O™
& H
0 %

Extract 5.1: A Sample of the Candidate’s Correct Responses
to Question 5.
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In Extract 5.1, the candidate managed to write correct answers
in all items.

Furthermore, data analysis reveals that 32 (7.22%) candidates
performed averagely by scoring from 3 to 5 marks. These
candidates managed to choose correct characters in some items
while failed in others. Their responses show that they had a
partial knowledge of some Chinese characters recognition and
meaning. For example, most of the candidates failed to
differentiate between -+~ (small) and ' (few) and A
(person/people) and A (enter). Extract 5.2 is a sample of
responses from a candidate with an average performance in
question 5.

Extract 5.2: A Sample of Responses from a Candidate with an
Average Performance in Question 5.

In Extract 5.2, the candidate was able to write correct answers
in items 1, 5 and 6 but failed in items 2, 3 and 4.

Furthermore, analysis reveals that 3 (0.68%) candidates had a
weak performance. Their scores ranged from 0 to 2 marks.
This performance was attributed to their insufficiency of
understanding of the rules of writing Chinese characters,
strokes as well as stroke orders. For example, in item 1, the
candidates who got this item wrong failed to differentiate the
word +J» (small) from the word ' (few). Their wrong choice
proves that they did not master well the two characters and
their uses.

Item 3 required candidates to apply the structure #& &A% + adj
(more and more + adj). Due to insufficiency of knowledge,
some of the candidates were unaware that in this structure the
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word 7~ (not) had to be placed before an adjective *F (good) to
form another adjective 1~ #F (not good). They were also
unaware that the word £ (still) cannot be used in this sentence
because A%k A& (more and more) shows the progressiveness of
an action, while the word i& (still) describes an action as static

or not yet to happened. Thus, ended up selecting an incorrect
answer.

Item 4 required candidates to recognize the difference between
character # and 4%. The candidates who scored 0 did not know
that the word # (two) is used to refer to things in pairs in
replacement of number two, since two (=) cannot be followed
by a measure word. They also did not know that the word 4% is
a measure word for vehicles and it was an incorrect answer.

In item 5, the candidates were required to differentiate between
character & (white) and B (day/date). Those who got this item
wrong did not know that the response was supposed to relate to
the concept of color and not of date.

In item 6, the candidates were required to recognize the
difference between character & (home) and % (an elephant).
The candidates who scored 0 failed to distinguish the word K
(home) and % (an elephant) which resulted to the writing of

incorrect answer. Extract 5.3 is a sample of responses from a
candidate with weak performance in question 5.

-

A I et 2 N
M

I

o |A f [ = I

Extract 5.3: A Sample of the Candidate’s Incorrect Responses
to Question 5.
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224

In Extract 5.3, the candidate wrote incorrect characters in all
items except in item 2 and 5.

Question 6: Short Answer Questions (Comprehension)

In this question, the candidates were required to read the
passage and answer the given questions. The question aimed at
testing the candidates’ ability to read and comprehend the
written information. The question was set from the topic of
Color/Hobby/Fashion and Entertainment/Size. The question
was as follows:

. ARAE S s AT IR T @A LG AL T B E AL

Tansang ni ya ldonidnrén hén xihuan kanxinwén - xinwén shi wo ba heé ta de
o OERE EFA R Bk FHAH OH , E A2 K E A ks
péngyou zui xihudn kande dianshijiémn -+  Méitian zdoshang tdmen y1 i chudng
MA R EBHR F LT BE . HFRF L M — A A

jit dakai dianshi - td men kangud ji xinwén yé& kan bén di xinwén - hdi kan
oATH B ML, el A B L F K M o M, L F
ti  yiuxinwén *  shénme xinwéntd men dou kan - Jintian baba de shén ti bl
wOEA M, A e K F o S45KR EE W F KR
shifu sudyi méiyou kan gud ji xinwén - péngyou gén tashuod - “JTntiénclle

I OFTEA R A A& B OH M, M OA R B, ‘A R
gud ji xinwén yi g&¢ méiguéde daxué xidozhing yao ldii women gdn sT fiang

E R4 E —A &k BY AF & Kk & R AN o dF

wen” xinwén  hdishud » xianzai women zheé li gdngrén de gdngzi yueldiyue
BT, &R G, A KM XE O OL A A L AR
gdo * tamen hui yueldiyué¢ yduqidn - Gud ji xinwén shud “digitd wiranwen ti

B, i & AR A B . EERMHE B “rk FEpEA

=) A :

Nia xierén xihuan kan xinwén ?

Flde: R A E oK K O M ?
B ERERIEEFABREGNE.

Baba x{ huan kan shénme dianshi jiémun ?

1. EEE W FH M+ A4 =M TH?

Shui zui xihuanxinwén kan dianshijiémd 7

20 M R B R AW F LATE?

Weishénme baba méi gichudng kan diashijiémib ?
3. A A EE R AL KR OH EATA?
Shui yao 1ldi women gong st cidifing ?

4. i B R AT & 3] KR IF T

Women zhe li  de gdngrén pong zi zénmeyang ?
5. &A1 LE 6 T A T W OE 4 2

Diqit wuordanweén ti  zénmeying ?

6. HLzk F Y B AR OE 2 A7
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The data analysis reveals that 443 (100%) candidates attempted
the question, out of whom 232 (52.37%) candidates scored
from 6.5 to 9 marks, which reflects a good performance, 153
(34.54%) candidates scored from 3 to 5.5 marks which reflects
an average performance, on the other hand 54 (13.09%)
candidates scored O to 2.5 marks which reflects a weak
performance. The candidates’ general performance in this
question was good, since 385 (86.91%) candidates scored from
3 to 9 marks. Figure 6 summarizes the candidates’ performance
in question 6.
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Figure 6: The Percentages of Candidates’ Performance in
Question 6

Analysis reveals that a total of 232 (52.37%) candidates
demonstrated a good performance on question number 6, as
they scored from 6 to 9 marks. These candidates understood the
passage and responded correctly to the given questions. For
example, in item 1, the question asked &% & A4 & &AL
* B ? (What kind of TV program father likes to watch?) The
candidates were required to name the television program which
is liked by the father.

The correct answer was &% &K A B I7#7 #4530 A A

#F 1, LHEKREIHE, L3 EmEA (Father likes to

watch international news, local news he also likes to watch
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sport news, generally he likes to watch all sorts of news). They
identified the correct answer because they comprehended the
passage.

Item 2, the question was # &z & 3K #1 H A wA T B ? (Who
likes to watch news television program?) The candidates who
scored a full mark in this item had sufficient knowledge of
Chinese Language vocabulary which enabled them to read and
comprehend the passage, finally choose the correct answer.

Item 3 stated that, A f+ 2 & & &AL KA AT B ? (Why
father did not wake up to watch television program?). The
correct answer was B % 4~ R && 49 & 4k 747 IR. (Because
father is not feeling good today). Those who got this item right
comprehended the requirements of the question and were able
to identify the correct answer.

ltem 4 stated that, # & %k &A1 3 K172 (Who wants to
interview our company?). The correct answer was — 4~ % E X
A2 K (One of the American University Vice president). The

candidates who scored a full mark identified the correct
information from the passage and wrote the correct answer.

Item 5, the question was FK/1iX 2 49 T A LT FE 2 4%? (How
is our workers’ wages here?). The candidates were required to
give an opinion about the workers’ wages. The answer was T
A TRARKAR G, AT 2ARR AL 4X. (The workers’ wages
keep on getting higher and higher, as days go on they will have
more money). The candidates who scored a full mark in this
item indicates that, they comprehended the passage.

In item 6, the question stated that, 3R 77 % 7] 2 & & #2
(How is the world environmental pollution?). The correct
answer was . 3K 75 % ] A A& k A& K (The world
environmental pollution is becoming more and more
worse/big). The candidates who wrote the correct answer had
sufficient knowledge of the Chinese Language which enabled
them to read, comprehend, identify and eventually writing the
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correct answer. Extract 6.1 is a sample of the candidate’s
correct response to question 6.

N

A
B2 £ & ¥ b 0% k) G

_mﬁﬁﬁﬁmwwaQQM%M£%mm,

3 "‘ﬁ 8 W4k T 430 B {0 B 24
. ZW*H

_Jr $ BRI T X A

Extract 6.1: A Sample of the Candidate’s Correct Responses
to Question 6.

In Extract 6.1, the candidate filled all the blanks correctly.
Although there is a minor error in item number 4 as the
candidate forgot to put a measure word that identifies the
number of American University Vice president(s) who wanted
to interview the company as mentioned in the passage.

However, the data analysis also reveals that, 153 (34.54%)
candidates had average performance as they scored from 3 to 6
marks. These candidates managed to answer correctly some
questions while failed to others. This performance was affected
by their partial knowledge of reading for comprehension.

Conclusively, data analysis reveals that, 54 (13.09%)
candidates had a weak performance as they scored from 0 to
2.5 marks.

Their performance is attributed with inadequate knowledge of
Chinese sentence structure, grammar patterns as well as
vocabulary that disabled them from comprehending the
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2.2.5

passage and writing the correct responses. Some of the
candidates randomly copied irrelevant words from the passage
and wrote them as answers. Others could not write the correct
characters thus made their own and gave them as responses
leading to incomprehensible words. The incorrect responses
imply that they had insufficient vocabulary for expressing
themselves. Extract 6.2 is a sample of the candidate’s incorrect
responses to question 6.

Xi o de dian Ih -}1’1’5 mp !
S Eght AT @
;

y’iﬁ%%mﬁ“aﬁff

A AN BT 491X LR
B 5k IR

Extract 6.2: A Sample of the Candidate’s Incorrect Responses
to Question 6.

In Extract 6.2, the candidate who wrote incorrect answers in all
items.

Question 7: Choosing the Correct Vocabulary

The question consisted of 6 items in which the candidates were
required to choose the correct word from the given alternatives
and fill in the blanks. The question was set from topic of
Introducing oneself and Friend.

The question aimed at examining candidates’ ability to express
him/herself. The question was as follows:
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L. RELHENHTRELENFRE,
lioshi  linxi  biye  Hanzi tongxué  huidi  xuéshéng

i%um %3 HEb A% A 895 %4

Ta zai xidoxué xuéxi  Ta shi

Wi 6 £ 3 F7. 8 R .
Xugshéng
2% 4 4
Ta jido women shixué - Ta shi women de
LR &0 &F. RR AN K o
Td changchng wén wd»  weishénme méi i de wenti-
L RFOF R AL R fo & A,
Rigud jinnidn t xiwang jiéshi xuéxi 3 jinnidn
bR AE AT HK 29,8 A% a
Ni kaishi de shihou xuéxi Hanyl» xi¢hé dd you didn r ndn -
4 MR F W HE F7 RE, Bk OB,
Ni yio ni de Hanyd shuipinggao:  niyinggdi chingching
o R M XEK R, kER FOF .
Ta gtn wo viqgi shangke - Ta shi wo
6 # kAR LR HRAK .

The question was attempted by 443 (100%) candidates, out of
whom 195 (44.02%) candidates scored from 6 to 9 marks,
which reflects a good performance, 110 (24.83%) candidates
scored from 3 to 5.5 marks which reflects an average
performance and 138 (31.15%) candidates scored 0 to 2.5
marks which reflects a weak performance. The candidates’
general performance in this question was good, since 305
(68.85%) candidates scored 30% or above. Figure 7
summarizes the candidates’ performance in question 7.
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Figure 7: The Percentages of the Candidates’ Performance in
Question 7

The data analysis reveals that 195 (44.02%) candidates
performed well in this question. They scored from 6 to 9 marks.
these candidates had sufficient knowledge of Chinese
Language vocabulary which enabled them to select the correct
responses. For example, in item 1, they were required to fill in
the blank with the word £ (teacher). The candidates who
scored a full mark identified the correct answer from the given
alternatives. This was due to the fact that they understood the
question and knew the requirements of the question.

In item 2, the candidates who got this item right chose the
correct answer which was = % (to answer) because the
keyword of this item was [F]#2. They noted that the sentence
included the phrase # 7% & ¥ & (He always ask me) after
asking what follows is usually a response = %< (to answer).
therefore, they identified the correct answer.

In item 3, the candidates had sufficient knowledge of the
Chinese vocabulary, which enabled them to recognize the word
b (to graduate) which was the correct response.

They knew better that after completion of studies, what follows
is usually a graduation.

36



In item 5, the question aimed at examining candidate’s
knowledge on the usage of the Chinese Language structure &
% +V (always/often + V) to complete the sentence. The correct
answer was % >J (Practice). The candidates who scored full
marks in this item had sufficient knowledge of the given
grammar pattern and its usage, which enabled them to identify
the correct answer.

In item 6, the candidates who scored full marks knew that the
noun [ % (school mate/class mate) was the suitable one
compared to the other given alternatives, because the sentence
stated that #.3% & —#2 L #% (She and I, are studying together)
This shows the relationship that they are classmates. Extract
7.1 is a sample of the candidate’s correct responses to question
7.
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Extract 7.1: A Sample of the Candidate’s Correct
Responses to Question 7.

In Extract 7.1, the candidate wrote correct answers in all items.

The data analysis indicates that 110 (24.83%) candidates
performed averagely by scoring from 3 to 5.5 marks. These
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candidates had partial knowledge of the given vocabularies.
They understood some words and how to use them in the
sentence but failed to do the same thing in some other words.
Thus, resulting to an average performance. Extract 7.2 is a
sample of responses from a candidate with an average
performance in question 7.
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Extract 7.2: A Sample of Responses to Question 7 from a
Candidate with an Average Performance.

In Extract 7.2, the candidate managed to write correct answers
initems 1, 2 and 3 but failed in items 4, 5 and 6.

Furthermore, the data analysis indicates that, 138 (31.15%)
candidates performed weakly as they scored from 0 to 2.5
marks. These candidates had insufficient knowledge of the
given vocabulary. Their responses prove that they did not grasp
the meaning and uses of those words in the sentence. They also
did not understand the meaning of the given sentences thus,
resulting to the random selection of the given alternatives. A
good example can be observed, in item 1 and 2.

In item 3, the candidates scored 0 because they had insufficient
knowledge of the given vocabulary as one of them chose the

word %k >3] (practice) which was wrong. He/she did not know
its uses in the sentence. he/she did not understand the meaning
of the sentence #bAw 2 4 R 5 3 (He hopes to finish his
studies) which means that he/she is about to graduate.
Candidates were confused with the word % 3] which was in
the given sentence. So, they ended up choosing an incorrect
answer.
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In item 4, the candidates were not aware that the item required
them to apply the structure V+ N to answer the question. Also
they were not familiar that in this structure the noun should be
placed after verbs 5 F=4 (writing and reading). Moreover,
they did not know that only the noun X (Chinese character)
from given alternatives related to the question. Thus, they
ended up picking the wrong answer.

In item 5, the question aimed at examining candidates’
knowledge on the usage of the structure & & +V (always/often
+ V) to complete the sentence. The correct answer was % >

(Practice). Candidates who score 0 did not notice that the blank
had to be filled with a verb.

In item 6, the candidates were required to choose the word ]
% (school mate/class mate) to fill in the blank. They got this
item wrong because they did not know the meaning of the
word [ % (school mate/class mate) and where to use it. They
also failed to relate it to the word —#2 (together) which
indicates the relationship (together). Their incorrect responses
imply that they did not master well the Chinese vocabulary and
grammar patterns. Extract 7.3 is a sample of responses from
one of the candidates who performed weakly in question 7.
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Extract 7.3: A Sample of the Candidate’s Incorrect Responses
to Question 7.
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2.2.6

Extract 7.3, illustrates the performance of the candidate who
wrote incorrect answers in all items.

Question 8: Re-arranging the Jumbled Words into Correct
Sentences

In this part, the question required the candidates to re-arrange
the jumbled words to make sentences which are grammatically
and semantically correct. The question was set from the topic
School/Life. The question aimed at examining candidates’
ability to express themselves by constructing sentences using
different Chinese Language structures. The question was as
follows:

A RELAEOETATRAZHHEF AR T,

Xihuan  xidngging @ lixig g
B OEX Q & % QR Qi O %
£%: 9006 Q0

ddsuan shangxue Meimei  qU fa gug -
COHEQ 20 4% 0@ £0 % B

Yéyezai  tinglid  sdnge jiand da yug

2 OF%EQ #8Q =A@ wex O A
Shujia ta tdn sang nf ya yidio  jiliqu-
. O ZRQORO#ARLQ -2 O # £
gloxing  guoldi  hdizimen  dé péo
4 ORX QIAQHETN ORK O %
Huoche  kudi Jlaotongche bi Zuo
5. O X2EQROXEEFOO %
danchéngpiao  mingming  mdile qu de sﬁnggéi badr -

6. Q22 E2Q WY QXTLHOH0O £4EFK

A total of 443 (100%) candidates attempted the question, out of
whom 61 (13.77%) candidates scored from 3 to 4.5 reflecting
an average performance and 382 (86.23 %) candidates scored
from O to 1.5 marks indicating a weak performance. There was
no candidate with good performance. The candidates’ general
performance in this question was weak, since 382 (86.23 %)
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had a weak performance and only 61 (13.77%) candidates
scored from 30% or above. Figure 8 summarizes the
candidates’ performance in question 8.

100 -
£ 90 - 86.23
= so
= 70
S 60
= 50
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Figure 8: The Percentages of the Candidates’ Performance in
Question 8

A total of 61 (13.77%) candidates had an average performance,
they scored from 3 to 4.5 marks. The candidates re-arranged
some sentences correctly and some sentences incorrectly. This
performance was attributed to a partial knowledge and
understanding of Chinese Language sentence structure and
grammar patterns (syntax). Candidates with an average
performance in this question, did well in item 1,2 and 3. They
had sufficient knowledge of the vocabulary, their meanings as
well as different grammatical patterns and structures which
were associated with vocabulary which were collectively used
to make meaningful sentences. An example can be drawn from,

item 1, QT H @ LF @K@ X O % EH Oplan®@go to

school ®young sister @ go ® France.Candidates who got this

item right were familiar with the sentence structure
Subject/someone + V1 + V2 + place +V3 meaning that
someone go to a certain place to do something. They were
aware that after the verb 475 (plan) another verb had to be
followed. They were also aware that %%k (young sister) stood
for a subject/someone, while 7% & (France) represented the
name of a place.
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This knowledge enabled them to write the correct answer ®

D@ G @ #kikITH &% B L% (Young sister plan to go
France to study)

However most of these candidates who had an average
performance in this question did not do so well in item 4, 5 and
6. They were unable to grasp the meaning of different
vocabulary as well as functions of different grammatical
structures which were to be used to bind the individual words
together so as to bring about a semantical (meaningful) and
syntactical (grammatical) sentence. In item 4, the candidates
who scored 0 were unable to identify the complement of
direction #2%& in 342k (running), which is used to explain
more about the result of the adjective =>% (happy). They did
not know that the word 7§ should be placed after the adjective

2% (happy). Because of insufficiency of this knowledge they
were unable to write the correct answer which was @ ©®® @
T & >4 453013 Sk (Children came running happily). Most
wrote @ ®® ® ® & T 1134 5k & ¢ (children ran come
happily) which was an incorrect response.

A OB 0@
20 HARO
HeIGIOICIE)
+Q00 0B
SO0 BAD
(. Q8 0BE

Extract 8.1: A Sample of the Candidate’s Average Responses to
Question 8.
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Extract 8.1 is a sample of responses from a candidate who
performed averagely in question 8, he or she wrote correct
answers in items 2, 3 and 5 but failed in items 1, 4 and 6.

Furthermore, the data analysis shows that 382 (86.23 %)
candidates had a weak performance as they scored from 0 to
2.5 marks. These candidates had inadequate knowledge of
Chinese grammar and vocabulary. They did not master the
Chinese Language structure. This affected them in responding
to the questions. They failed to rearrange the sentences because
they did not know the placement of the jumbled words in the
sentence. For example, in item 1, the candidates were not
familiar with the structure Subject/someone + V1 + V2 + place
+V3 that mean someone go to a certain place to do something.
They were not aware that after the verb 47# (plan) another
verb had to be followed. They were also not aware that ¥kik
(young sister) stood for a subject/someone, while k&
(France) represented the name of a place.

Some candidates wrote @@ @@ G ik LFEE EITHE

(Young sister study France to go plan). This indicates that the
lack of sufficient knowledge disabled them from rearranging
the jumbled words correctly,

In item 2, the candidates failed to note that after the verb /%%
(stay for some time) the time =/~ (three months) should
follow. They were also not aware that the phrase %% (my
grandfather was at) had to be placed before a noun of the place
/g X (Canada). Thus, ended up writing incorrect responses

as one of them wrote D@ B ® FFE=/ 28 AmE KX
(Grandfather at three stay months Canada) and the other wrote
OO FF = AmE KA1 E (Grandfather at three

Canada months stay). This shows that they had insufficient
knowledge of the vocabulary.

In item 3, the question required candidates to apply the
structure —....... %% (as soon as). They did not know that in
this structure the word Z{& (summer vocation) had to be
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inserted between —....... #. (as soon as), the noun 3E.& &I
(Tanzania) had to be placed after the word #t2. In addition to
that, they were not aware that the subject & (she) could be
placed before the word — or before the word #t. Thus, ended
up rearranging the jumbled words incorrectly, for instance, one
candidate wrote ® @ @ ® @ & R 32 F & L3t k£ — 2| b
(summer vocation Tanzania will go to after arriving she).

In item 4, the candidates who scored O were unable to identify
the complement of direction #2:k in 342 % (running), which
is used to explain more about the result of the adjective 2%
(happy). They did not know that the word 4% should be placed
after the adjective 3% (happy). Because of insufficiency of
this knowledge they were unable to write the correct answer

which was @ O @ ® @ #1115 3443313 &k (Children came

running happily). Most wrote @ @® O ® #Z T84 %k &%

(children ran come across happily) which was an incorrect
response.

In item 5, the question required candidates to apply the
structure A + tt+ B +Adj (Noun + b + noun + adjective) to
show comparison between A and B. But they were not aware
of this knowledge, they were also not aware that in this
structure an adjective & (fast) had to be placed after B. They

rearranged incorrectly the sentence, one of them wrote ®® @
O® 38 F A K Z b (bus faster train than) and the other

wrote O @ @ ® @ K # b il F & B (train is fast than
taking a bus). This shows that they had sufficient knowledge of
the given vocabulary, their meaning as well as the sentence
structures, but failed to position the verb #%. This occurred

because they failed to understand the meaning of this word.
Thus failed to rearrange the jumbled word correctly.

In item 6, the candidates who scored 0 did not notice that after
the phrase % 7 2 (bought go to) had to be placed before the

44



2.3

noun of the place &4 /R (Zanzibar). Moreover, they were
not aware that after the noun of the place %€ /% (Zanzibar)
the word 49 should follow and lastly end with the noun 42 Z
(one-way ticket) to form a phrase & 4 € R #) $ 42 Z
(Zanzibar one-way ticket). Thus, ended up rearranging the
jumbled words incorrectly, for example one of them wrote @
OO MFETHELe REMRZHI (bought go
Zanzibar one way ticket Mingming) which was wrong. Extract

8.3 is a sample of the candidate’s incorrect responses to
question 8.

AT T W @ U 0
3 ® 6 0

'
3 (3

23

® & 0
b B3 B 6B B B
. 3 B O ® 0

Extract 8.3: A Sample of the Candidate’s Incorrect Responses
to Question 8.

In Extract 8.3, the candidate re-arranged incorrectly the words
in all the items.

SECTION C: COMPOSITION

This section had three (3) essay questions The candidates were
required to choose and answer only two of them. Question 9 and 11
comprised five guiding words and they were required to use them to
compose a passage with 60 to 80 characters. Question number 10 was
about writing a CV. Each question had 15 marks making a total of 30

2.3.1 Question 9: Writing Composition

In this question, the candidates were given five (5) words
whereby they were required to use those words to compose 60
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to 80 characters’ passage with a given title X848 8 )L AT?
(Where do you want to go during the holiday?) . The question
was set from the topic of Travel and customs it aimed at testing
candidates’ ability to compose and express their ideas in
Chinese Language. The guiding words were; % % 14
(Dodoma), K % (train), /1.4 (friend), # X (suburbs) and /%
A 75 4 (pollution free) The question was as follows;

L. REFLHERARTEARNXFE—R o0 2 80 F 0L
EA: AR L ILRAT?
®7F#E: 555, K% OMA WE, RAA%

The data analysis reveals that 424 (95.71%) candidates
attempted the question, out of whom 62 (14.63%) candidates
scored from 10 to 15 marks, which reflects a good
performance, 110 (25.94%) candidates scored from 5 to 9
marks which reflects an average performance and 252
(59.43%) candidates scored from 0 to 4 marks which reflects a
weak performance. The general performance of the candidates
in this question was average, since 172 (40.57%) candidates
scored 30% or above. Figure 9 summarizes the candidates’
performance in question 9.
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Figure 9: The Percentages of the Candidates’ Performance in
Question 9
46



Furthermore, data analysis shows that 110 (25.94%) candidates
had an average performance, they scored from 5 to 9 marks.
This performance was attributed to the partial knowledge of the
given words. They failed to comprehend and recognize the
meaning and usage of some given words/characters. Thus,
constructed some sentences correctly and some incorrectly, this
resulted to an average performance.

The analysis revealed that 252 (59.43%) candidates
demonstrated a weak performance, they scored from 0 to 4
marks. These candidates had inadequate knowledge of the
Chinese Language vocabulary as they did not understand the
meaning and uses of the given words.

Some candidates randomly copied words and sentences from
the question paper and wrote them as answers. Moreover, other
candidates did not even understand the requirements of the
question so they wrote irrelevant contents as responses to the
given questions. Others were unaware of the Chinese sentence
structures, thus they composed incorrect sentences, leading to a
weak performance. Extract 9.1 is a sample of the candidate’s
incorrect responses to question 9.

7 tiw'ﬁ%fﬁ%nw‘ﬂﬂwﬁi
W oo Mk RE K RRE MR
KR FE A M ARAT H-UVJ
ARE o3 4 AR 3R 1 A HIE RS
8 k. @%ﬁmv.% S5 T g
hep B e A e T .
8 B %5 M%EWZ ﬁﬁﬂﬂe
ITRRRE. kFTIART Leaﬂ 8, Kufu
AT 4 pam & B 408 5 R
W% RE-er B Yliﬂm
11y, 46 RANERE.

Extract 9.1: A Sample of the Candidate’s Incorrect
Responses to Question 9.

In Extract 9.1, the candidate wrote incomprehensible passage.
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2.3.2

On the contrary, there were 62 (14.63%) candidates who
demonstrated a good performance. with scores ranging from
10 to 15 marks. These candidates had sufficient knowledge of
Chinese Language vocabulary, grammar, sentence structure
and meaning of the words. They composed meaningful and
grammatical sentences.

These candidates had a good mastery of the words class and
meaning of each given word. They were also aware of the
words that can go together with the given guiding words. They
mastered well the topic of Travel and custom. Thus, composed
a passage that observed the semantical (meaning) and
grammatical rules as they put punctuation marks, chose the
right vocabularies and correct structure. They also considered
the number of words. However, because of some errors they
failed to score full marks (15/15). Extract 9.2 is a sample of
the candidate’s correct responses to question 9.

% RE
SORETE L RN
FUPLRE B 0% 6 AR A
*‘ﬁzs S, BB SRR A TR b

M X a0, 1RER 4 M £ %% o4 5t
A0 BEERL g% AT, B X BEE Al
-2 %90 mn%m AL X% E
%9 ih.B M:ﬁ K1 £ PE 9% 37 8%
IR 4050 F S5 ML)

Extract 9.2: A Sample of the Candidate’s Correct
Responses to Question 9.

sl

In Extract 9.2, the candidate’s responses regarded as the best.

Question 10: Writing Composition

In this question, the candidates were given a tittle 4% &9 8 3
(Your curriculum vitae). The candidates were required to write
a CV. The question was set from the topic of Introduction and
recommendation which aimed at testing the candidates’ ability
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to give his/her own information in Chinese Language. The
question was as follows;

+. ARIEPRTELEGYIEAM AT E — 5,
EA . AREY BT

The data analysis indicates that 181 (40.86%) candidates
attempted the question, out of whom 9 (4.97%) candidates
scored from 10 to 15 marks, which reflects a good
performance, 2 (1.10%) candidates scored from 5 to 9 marks
which reflects an average performance and 170 (93.92%)
candidates scored from 0 to 4 marks which reflects a weak
performance. The candidates’ general performance in this
question was weak, since 11 (6.08%) candidates scored 30% or
above. Figure 10 summarizes the candidates’ performance in
question 10.
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Figure 10: The Percentages of the Candidates’ Performance in
Question 10

A total of 170 (93.92%) candidates had a weak performance,
they scored from 0 to 4 marks. This performance was attributed
to their insufficient knowledge of Chinese grammar and lack of
sufficient vocabulary to express themselves. So, they were
unable to write a CV as instructed. Some candidates did not
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understand the word f& /3 (curriculum vitae) as they thought
that they were asked about Ef 8] & (timetable) so they
provided information about their timetable.

Some of them failed to understand the demands of the question,
instead of writing a CV they composed a passage, while others
wrote irrelevant contents in pinyin, this implies that they had
insufficient knowledge of the concerned topic. Extract 10.1 is a
sample of the candidate’s incorrect responses to question 10.

+ NI hipr we uaa KIA mﬂﬂ Hn Gn nin
ren. wh ) nian Shl b, wy Cona Lin

La,'i’ Wt xt huan ;léwa&&nf/w b £irg yin
ik, M7 X! buan Wandidnsh bt iy
/Jﬁ?ﬁ){!n Wén, Wi the L he Za de Pngyus
2w X huiin Kende didnsh) uému m. Han,

Extract 10.1: A Sample of the Candidate’s Incorrect
Responses to Question 10.

In Extract 10.1, the candidate’s responses of which he/she has
introduced him/herself using pinyin instead of writing a CV.

Further analysis reveals that 9 (4.98%) candidates who had
demonstrated a good performance, gave their personal
information by writing the needed information in a CV, which
were % % (Surname), 15| (gender), E 44 (Nationality),
4 B 27 (Date of birth), & 4 3% (Place of birth), 323k
(Occupation) , 3.3k (Address), #.1% (Phone number) and #.
F @R+ (e-mail) . It was observed that, candidates under this
category had sufficient knowledge of the Chinese Language
which enabled them to present their personal information. The
format had to be as follows;
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2.3.3

g AT A

ti BEH:Qoosf‘t 13 H 50,

LY SR 4 T,

) N ;i

Thik: RN T T

&, 18! 0676738474

4§ @B 142 Mimah @ Hotra,] , com,

Extract 10.2: A sample of the candidate’s correct responses
to question 11.

In Extract 10.2, the candidate wrote a CV.

Question 11: Writing Composition

In this question, the candidates were given a tittle 2% &K &9 7%

] (My favorite opera) with guiding words and they were
required to compose a passage/dialogue of 60 to 80 characters.
The question was set from the topic of media which aimed at
testing the candidates’ ability to compose and express ideas in
Chinese Language. The guiding words were; 3t (Beijing),
*% (perform), 3k...—#% (the same), %>% (happy) and &
(watch). The question was as follows;

T, RET LS HHEDARFERNRTE B 60 2 0N F o3t
i1 P S ol

®FH: kX RE K. —H# X &

et

The question was attempted by 281 (63.43%) candidates, out

of whom 22 (7.83%) candidates scored from 10 to 15 marks,

which is regarded as good performance, 77 (27.40%)

candidates scored from 5 to 9 marks reflecting an average

performance and 182 (64.77%) candidates scored from O to 4

marks indicating a weak performance. The candidates’ general
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performance in this question was average, since 99 (35.23%)
candidates scored 30% or above. Figure 11 summarizes the
candidates’ performance in question 11.

Scores
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m]10-15

27.40%

Figure 11: The Percentages of the Candidates’ Performance in
Question 11

The data analysis shows that 77 (27.40%) performed averagely
as they scored from 5 to 9 marks. These candidates had partial
knowledge of the given guiding words. They wrote a passage
which had some errors in sentences structure and in some
choice of words. Others had insufficient vocabulary to express
themselves thus, resulting to the incorrect writing of some
sentences.

Further analysis reveals that 182 (64.77%) candidates had a
weak performance as they scored from 0 to 4 marks.

These candidates had insufficient knowledge of meaning of the
given Chinese vocabulary and their usage. Some were unable
to create meaningful sentences, while others did not even know
how to use the given guiding words in their passages, few of
them wrote incomprehensible sentences. In addition, some
candidates copied characters from the question paper, while
others copied sentences from the text in a question paper and
wrote them as answers. These responses show that the
candidates had insufficient knowledge of the vocabulary about
the topic of travel and custom. Extract 11.1 is a sample of the
candidate’s incorrect responses to question 11.
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Extract 11.1: A Sample of the Candidate’s Incorrect
Responses to Question 11.

In Extract 11.1, the candidate wrote incomprehensible
composition.

Furthermore, the data analysis reveals that 22 (7.83%)
candidates performed well, as they scored from 10 to 15 marks.
These candidates had sufficient vocabulary about the topic of
travel and custom. They wrote a passage in Chinese characters
correctly. Their ideas were well organized, sentences were well
structured and made a good choice of vocabulary. They also
used the guiding words correctly. However, because of some
errors they failed to score full marks (15/15). Extract 11.2 is a
sample of the candidate’s correct responses to question 11.

& S BxR)
: T?’ﬁﬁémuﬂ P, & 3 Mﬂ’(
TR R RAEER G L FLF RFH LA
£REoAGEE, g s&nﬁfM EFVEL
KA,
BTV 0 781,77 Bk A 1E %
AL E S RS IILES K2 T
AT 1R g X 1 T

Extract 11.2: A Sample of the Candidate’s Correct Responses to
Question 11.

Extract 11.2, indicates the performance of the candidate who
managed to write a good composition.
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3.0

4.0

PERFORMANCE OF THE CANDIDATES IN EACH TOPIC

The Chinese Language examination comprised of 11 questions which were
based on the topics of City and Environment, Food/Nature, Greeting and
Self-introduction/Family  Introduction,  Color/Hobby/Fashion  and
Entertainment/Size, Introducing oneself and Friends, Environment and
Health, Transportation/Travel and Custom, Media, Shopping/ Housing,
School/Life and Introduction and Recommendation.

The data analysis reveals that the candidates demonstrated a good, average
and a weak performance. The good performance was on the topics of City
and Environment (99.32%) Food/Nature (95.26%), Greeting and Self-
introduction/Family Introduction (92.78%), Color/Hobby/Fashion and
Entertainment/Size (86.91%) and Introducing oneself and Friends
(68.85%). The good performance was attributed to the candidates’ ability to
understand the demands of the questions and their sufficient knowledge and
skills on the topics tested as well as their sufficient knowledge of Chinese
vocabulary. Further data analysis shows that the candidates performed
averagely in the topics of Environment and Health (50.34%),
Transportation/Travel and Custom (40.57%) and Media (35.23%). The
average performance was influenced by the candidates’ partial knowledge
on the topics tested.

Moreover, the topics of Shopping/Housing (25.26%), School/Life (13.77%)
and Introduction and recommendation (6.08%) had a weak performance
which was attributed to the candidates’ insufficient knowledge of the
Chinese grammar.

CONCLUSION

The performance of the candidates in the Chinese Language subject in
CSEE 2023 was good, since 402 candidates (91.36%) passed the
examination and 38 candidates (8.64%) failed.

The analysis done reveals that the candidates who demonstrated a good
performance in this examination had sufficient knowledge of the Chinese
Language and had good writing and reading skills. Despite the good
performance, some candidates had an average and a weak performance.
These candidates had insufficient knowledge of the topics tested and did
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5.0

not master well the Chinese sentences structure and grammar. The analysis
of the candidates’ performance in each topic is summarized in Appendix.

RECOMMENDATIONS

For better improvement of the candidates’ performance in the Chinese
Language subject, it is recommended that:

5.1 Teachers should guide students on how to write correct sentences by
giving them jumbled words and guide them to re-arrange them.

5.2 Teachers should guide and encourage students to read simple texts
related to the topics in order to improve their vocabularies and
grammar patterns.

5.3 Teachers should guide students on how to write essays, Curriculum
Vitae and logical paragraphs or compositions by giving them
pictures, cards and simple titles.

5.4 Teachers should guide the students on how to write pinyin by
applying features such as initials, finals, tones and syllable formation.
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Appendix:

Summary of the Candidates’ Performance per Topic for the Chinese
Language Subject in CSEE 2023

5|23

£128

4= (O
S © n R
S/N _ Z | 53 S
Topic S | &8 =
= | $ 8 ¥

@ slike!

S 5 S

S 3

4 $)

6 | Environment and health 4 | 50.34 Average
7 | Transportation/Travel and custom 9 | 40.57 Average
8 | Media 11 | 3523 | Average
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